

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Team Finals

FIIVE

www.sincro.mx

8 NOV. 2025

Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total Pen.	Total	Routine
			Elements	Artistic Impression						Synchronization		
J1												
J2												
J3												
J4												
Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total Pen.	Total	Routine
1.	(4)		CIUDAD DE CALI									
			ACRO (0.7)	2.350		6.50	6.75	6.50	5.00	10.5554	139.4126	181.4626
			HYBRID (0.7)	8.050		5.75	5.50	6.00	5.50	31.9317		
			HYBRID (0.7)	7.810		5.25	5.75	5.75	5.75	30.9797		
			HYBRID (0.7)	7.100		5.25	5.75	5.50	5.50	27.3350		
			ACRO (0.7)	1.975		5.50	6.25	5.00	5.00	7.3733		
			HYBRID (0.7)	7.750		5.00	5.50	5.75	5.50	29.8375		
			ACRO (0.7)	1.900	0.500	5.00	3.00	4.00	4.00	1.4000		
			TOTAL DIFFICULTY	35.535	36.935							
			Choreo and Music (1.2)			6.25	6.25	6.00	5.50	21.9000	61.3500	
			Performance (1.0)			6.50	6.50	6.25	5.25	18.7500		
			Transitions (1.2)			5.75	6.50	5.75	5.50	20.7000		
			STC Small (0.1)			138				13.8000	-19.3000	
			STC Obvious (0.5)			5				2.5000		
			STC Major (3.0)			1				3.0000		
			F ARISTIZABAL RINCON Salomé									
			F GUZMÁN BELTRÁN Celeztte									
			F GÓMEZ SOLANO Zara									
			F LÓPEZ MALAGON María Paz									
			F MENDOZA MARTINEZ Isabella									
			F MORENO BALANTA Isabela									
			F VÉLEZ GONZALEZ Salomé									
			F TORRELLES TORRADO Camila Victoria									
			F [R]MEDINA MOLANO Salomé									
			F [R]RODRIGUEZ FERRIN Juliana									

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Team Finals

FIIVE

www.sincro.mx

8 NOV. 2025

Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
2.	(3)		SAN NICOLÁS										
			ACRO (0.7)		1.675	6.25	5.75	5.50	5.00	6.5465		61.6044	82.3544
			HYBRID (0.7)		4.550	5.25	5.00	4.75	5.00	15.9250			
			HYBRID (0.7)		2.850	5.75	5.25	4.00	4.50	9.6425			
			ACRO (0.7)	1.650	0.500	5.00	4.25	4.50	4.00	1.5458			
			ACRO (0.7)		1.925	6.00	4.75	5.25	4.50	6.7375			
			HYBRID (0.7)		3.550	5.00	5.25	5.00	5.25	12.6321			
			HYBRID (0.7)		2.450	5.50	5.00	4.75	5.00	8.5750			
			TOTAL DIFFICULTY	17.500	18.650								
			Choreo and Music (1.2)			5.50	5.75	6.00	4.75	20.1000		54.1500	
			Performance (1.0)			5.25	5.50	5.25	5.00	15.7500			
			Transitions (1.2)			5.00	5.50	5.25	4.50	18.3000			
			STC Small (0.1)			159				15.9000		-33.4000	
			STC Obvious (0.5)			11				5.5000			
			STC Major (3.0)			4				12.0000			
			F ALMANZA LOREDO Martina Milenka										
			F FERNÁNDEZ ÁLVAREZ Grettel Nicole										
			F GARZA DE LA ROSA Ximena										
			F HINOJOSA RAMIREZ Geyli Dariana										
			F HINOJOSA RAMIREZ Lindsay Ximena										
			F LEAL SEGUNDO Alizee										
			F TORRES GARCIA Marely Anarika										
			F URIBE CARRIZALES Renata Lizeth										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Team Finals

FIIVE

www.sincro.mx

8 NOV. 2025

Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine	
3.	(2)		CARE NL											
			ACRO (0.7)			1.750	6.75	6.75	6.25	5.75		7.8604	52.9740	72.9740
			ACRO (0.7)			1.600	6.25	6.75	6.50	5.50		7.0933		
			HYBRID (0.7)			3.350	5.00	5.25	5.50	5.25		12.3113		
			HYBRID (0.7)			1.950	5.00	4.75	4.75	4.75		6.4838		
			HYBRID (0.7)	4.050		0.500	4.75	4.50	5.00	4.50		1.6333		
			ACRO (0.7)			1.675	5.75	5.50	5.75	6.00		6.7419		
			HYBRID (0.7)			3.100	5.00	5.00	4.75	5.00		10.8500		
			TOTAL DIFFICULTY	13.925	17.475									
			Choreo and Music (1.2)			4.75	6.00	6.25	4.75			19.5000	54.1000	
			Performance (1.0)			4.75	5.75	5.75	5.00			16.0000		
			Transitions (1.2)			4.50	6.50	5.50	4.75			18.6000		
			STC Small (0.1)			181						18.1000	-34.1000	
			STC Obvious (0.5)			20						10.0000		
			STC Major (3.0)			2						6.0000		
			F BANDA HERNÁNDEZ Rocío Yareli											
			F DURÓN ROJAS Renee											
			F JASSO OLIVO Victoria											
			F LAZALDE FERRIÑO Danna Carolina											
			F LEMUS ESQUIVEL Avril											
			F LÓPEZ MARTÍNEZ Mariana Larissa											
			F MARTÍNEZ ALCORTA Jacy Carolina											
			F MORELOS OLIVARES Dulce Joy											
			F [R]QUIROGA HERNÁNDEZ Valentina											
4.	(5)		AOA											
			ACRO (0.7)			2.200	6.00	6.00	6.25	4.25		8.9833	34.1221	68.5221
			HYBRID (0.7)			1.900	5.50	5.00	5.25	4.75		6.7608		
			HYBRID (0.7)			1.450	5.00	4.75	5.50	5.00		5.0750		
			ACRO (0.7)	2.250		0.500	5.50	5.25	5.00	4.50		1.7792		
			HYBRID (0.7)			2.450	5.00	4.75	5.75	4.75		8.4321		
			ACRO (0.7)	2.200		0.500	5.00	3.00	4.75	4.00		1.5167		
			HYBRID (0.7)	2.950		0.500	4.75	4.50	4.50	4.50		1.5750		
			TOTAL DIFFICULTY	9.500	15.400									
			Choreo and Music (1.2)			6.00	5.75	6.25	4.75			21.0000	57.5000	
			Performance (1.0)			5.75	6.00	5.75	4.50			17.0000		
			Transitions (1.2)			5.50	5.50	6.00	4.50			19.5000		
			STC Small (0.1)			141						14.1000	-23.1000	
			STC Obvious (0.5)			18						9.0000		
			STC Major (3.0)			0						0.0000		
			F ALVAREZ Diana											
			F GOMEZ Andrea											
			F MANZANO Isis											
			F ORNELAS Maria Jose											

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Team Finals

FIIVE

www.sincro.mx

8 NOV. 2025

Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
5.	(1)		COMUDE LEÓN										
			HYBRID (0.7)	2.650	0.500	5.50	5.25	5.50	5.25	1.8667		42.8254	62.5254
			ACRO (0.7)		2.150	6.25	7.00	6.25	5.25	9.4063			
			HYBRID (0.7)		2.300	5.25	4.75	4.75	5.00	7.9158			
			ACRO (0.7)		1.850	6.00	5.75	6.00	5.50	7.5542			
			HYBRID (0.7)	4.450	0.500	5.25	5.00	5.00	5.00	1.7500			
			HYBRID (0.7)		1.950	5.00	4.75	4.75	4.75	6.4838			
			ACRO (0.7)		1.950	5.75	6.25	5.75	5.00	7.8488			
			TOTAL DIFFICULTY	11.200	17.300								
			Choreo and Music (1.2)			6.00	6.25	5.25	5.00	20.1000		54.6000	
			Performance (1.0)			5.75	6.00	5.25	4.75	16.5000			
			Transitions (1.2)			5.00	6.00	5.00	4.50	18.0000			
			STC Small (0.1)			129				12.9000		-34.9000	
			STC Obvious (0.5)			8				4.0000			
			STC Major (3.0)			6				18.0000			
			F ANICA M. Frida										
			F CONEJO G. Daniela										
			F LUEBBERT S. Samantha										
			F MORALES A. Pía										
			F NAVARRO H. Lluvia										
6.	(7)		DEPORTIVO SALVADOR ALLENDE										
			ACRO (0.7)	1.975	0.500	6.50	5.25	5.50	4.50	1.8958		10.5000	42.7000
			HYBRID (0.7)	2.350	0.500	4.50	4.75	4.50	4.75	1.6042			
			HYBRID (0.7)	1.650	0.500	4.50	5.00	4.75	5.00	1.6917	8.00		
			ACRO (0.7)	1.675	0.500	5.50	5.75	6.25	5.50	1.9833			
			HYBRID (0.7)	1.950	0.500	4.50	5.25	4.25	5.00	1.6625			
			HYBRID (0.7)	2.950	0.500	4.50	4.75	4.75	4.75	1.6625			
			ACRO (0.7)	2.025	0.000	5.50	5.50	6.00	5.00	0.0000			
			TOTAL DIFFICULTY	3.000	14.575								
			Choreo and Music (1.2)			5.00	6.00	4.50	5.00	18.0000		50.7000	
			Performance (1.0)			5.00	5.75	5.00	4.75	15.0000			
			Transitions (1.2)			4.50	5.75	5.00	4.75	17.7000			
			STC Small (0.1)			144				14.4000		-10.5000	
			STC Obvious (0.5)			18				9.0000			
			STC Major (3.0)			2				6.0000			
			F ACUÑA Arlene										
			F DE ITA María José										
			F DÍAZ Romina										
			F JACINTO Paula										
			F RODRÍGUEZ Melissa										
			F HERNANDEZ Valeria										

FESTIVAL DE CALAVERAS 2025
NATACION ARTISTICA
11-12 Team Finals

FIIVE

www.sincro.mx

8 NOV. 2025

Code	Rank	Draw	Team	Ref	DD	J1	J2	J3	J4	Total	Pen.	Total	Routine
7.	(6)		SINCRO QRO 2000										
			ACRO (0.7)	1.375		5.25	5.00	6.50	4.25	4.9729		20.6529	34.8500
			HYBRID (0.7)	2.200		4.50	4.25	4.50	4.75	6.9300			
			ACRO (0.7)	1.600	0.500	4.75	4.75	5.25	4.50	1.6625	16.00		
			HYBRID (0.7)	1.200	0.500	4.00	3.50	4.25	4.00	1.4000			
			HYBRID (0.7)	2.150	0.500	4.25	4.00	4.75	4.25	1.4875			
			HYBRID (0.7)		0.750	4.50	4.25	4.50	4.50	2.3625			
			ACRO (0.7)	0.600	0.500	5.25	5.25	6.00	4.25	1.8375			
			TOTAL DIFFICULTY	6.325	9.875								
			Choreo and Music (1.2)			5.25	5.50	5.00	4.75	18.3000		50.8500	
			Performance (1.0)			5.00	5.75	5.50	4.50	15.7500			
			Transitions (1.2)			4.50	5.25	4.75	4.50	16.8000			
			STC Small (0.1)			151				15.1000		-20.6529	
			STC Obvious (0.5)			23				11.5000			
			STC Major (3.0)			7				21.0000			
			F ANTONIO ARZATE Paula Binnizá										
			F FLORES GALVÁN Luciana										
			F HERNÁNDEZ RIVERA Stephania										
			F NAVA GONZÁLEZ Agnes										
			F TORRES GARCÍA Isabella										
			F ZAVALA MENDOZA Ana Sofía										